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1 	Introduction
In this paper we provide our views on the remaining issues for FR2 RRM testing.
2 Discussion 
[bookmark: _Ref1156294]2 polarizations
In our understanding, TE will transmit signal either from θ-polarization or φ-polarization. One polarization at a time. Therefore, RF tests (like EIS, EVM … ) are separated into 2 steps for θ and φ-polarization, respectively. If one further check the detail in RF test setup in TR38.810, the criteria to pass the UE are quite different, e.g.,
· In peak EIRP, the results collected from 2 polarizations are summed together
EIRP (PolLink = EIRP(PolMeas= PolLink + EIRP(PolMeas= PolLink
· In EIS, the inverse of the harmonic mean is taken for the results collected from 2 polarizations
EIS = 2*[1/EIS(PolMeas= PolLink= +1/EIS(PolMeas= PolLink=]-1
· In EVM, pass the UE if UE meets the requirement with either polarization 
· In blocking, pass the UE if UE meets the requirement with both polarizations 
We think the same issues needs to be also discussion for RRM testing. For examples,
· How to distribute each test iterations into θ-polarization and φ-polarization
· How to set the criteria to determine whether UE can pass the test based on the results of 2 polarizations
[bookmark: _Ref7731531]Proposal 1: RAN4 RRM session needs to discuss how to deal with the limitation that TE can only transmit with one polarization at a time, e.g.,
· How to distribute each test iterations into θ-polarization and φ-polarization
· How to set the criteria to determine whether UE can pass the test based on the results of 2 polarizations

RSRP accuracy test
In last meeting, RAN4 agreed to introduce additional subtests on top of the absolute accuracy test based on method 3. 
	· Use method 3 for testing absolute accuracy
· On top of that, 
· Verify the relative accuracy between different cells in the same test, 
· Verify the relative accuracy between levels on the same cell in the same direction across different RSRP levels



For method 3 itself, there is one open issue on how to consider the margin for the uncertainty of UE Rx beamforming gain and the impact of randomly-selected AoA. We think the final criterion would be some modified such that the RSRPreport should within the range of 
[RSRPRP – 6 – A, RSRPRP + 6 + B],
where RSRPRP is the configured RSRP at the reference point. The number 6 is from the accuracy requirement, while A and B are to address the lower and upper bound on the Rx beamforming gain, respectively. In our view, to decide B, RAN4 needs to first discuss whether UE is still allowed to use fine beam to measure L3-RSRP and report. If it is allowed, then B should be the same for L1-RSRP and L3-RSRP. 
[bookmark: _Ref7731534]Proposal 2: RAN4 to determine whether UE is allowed to use fine beam to measure L3-RSRP and report.

Regarding the relative accuracy for between different input power levels for the same cell with same AoA, RAN4 needs to discuss how to compare the measurement results between 2 power levels. 
· According to Section G.2.3 in TS36.521-3, the test run can be terminated if UE passes the first 33 test iterations. However, it is not clear that how early termination can work in this case. For an example, how may reports needs to be collected at high power level before switching to lower power level? 
· The core requirement is also not clear. It sounds to us that the only uncertainty for RSRPhigh-RSRPlow is the power difference provided at the quiet zone plus some error purely from UE’s baseband. However, there is no core requirements to address pure baseband error yet.
· If TE gets 100 RSRP reports from high power level and 100 RSRP reports from low power level, then how many pairs the TE will compare? 
· Total 100 pairs: Compare the two 1st reports and then the 2nd … 
· Total 100x99/2 pairs: All possible pairs are compared.
· Only 2 pairs: compare the 2 mean (or medium) values
[bookmark: _Ref7731536]Proposal 3: For relative accuracy between levels on the same cell in the same direction across different RSRP levels, RAN4 to clarify further detail on how the test is conducted, e.g.,
· How to consider early termination 
· Corresponding core requirements
· How to select the pair(s) of values for comparison 

Target SNR emulation mode
Another issues is about whether to emulate artificial noise at some RSRP accuracy test, e.g., low input level. In our understanding, it is fine to have no artificial noise for test with low input level. So that we can check UE’s performance at low Io.
[bookmark: _Ref7731537]Proposal 4: For RSRP accuracy tests with low input level, artificial noise can be removed.

3 Summary
In this paper we provide our views on the remaining issues for FR2 RRM testing. We have the following proposals
Proposal 1: RAN4 RRM session needs to discuss how to deal with the limitation that TE can only transmit with one polarization at a time, e.g., 
· How to distribute each test iterations into θ-polarization and φ-polarization
· How to set the criteria to determine whether UE can pass the test based on the results of 2 polarizations
Proposal 2: RAN4 to determine whether UE is allowed to use fine beam to measure L3-RSRP and report.
Proposal 3: For relative accuracy between levels on the same cell in the same direction across different RSRP levels, RAN4 to clarify further detail on how the test is conducted, e.g., 
· Corresponding core requirements
· How to select the pair(s) of values for comparison 
Proposal 4: For RSRP accuracy tests with low input level, artificial noise can be removed.
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